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SECTIONA

Answer ALL questions. Write your answers in the spaces provided.

-

\

(a) Work out 352
(2)

-

(b) Write 325 grams in kilograms.

kg

(Total for Question 1 is 3 marks)

P 6 8 4 7 2 A 0 2 0 8

o

,.V
AR ERAS
TR

3

<

SEIRRE

o8

0
00099
%%%
=

R
R
S
X
\5
5 > ’ . <

X <
XXX KX
.%\.
&x. :
XK
X XK KX
“"3

pogss 3K
e
o 8
0’0"@/’0

%
SRRZXK
X
SRS
SO
SRABES
o
x

%
prose:
b

%
3
SRR =
RS e
Fosoee SIS
93 % SR
2% e
ot Boses ool
%5 oS oS
fote: Bot! ey
% fodeame%es
fotore—. Botot ety
% o
& iarost
proga™ KB
SEPIR W
Koaa’S XXX
K S
o Botol ivy®s
SN SO
905 o @ 308
0% 950 QD S9%. 450%
faser - JoSoRRetet-~-%e¢
SRS TR
SXEZES SO
SXIRIKS ST
OMSS Komes
bo%8 0.3 J9%8¢ 09 & 5%
SEPHS SN
SREDS SO
fote ~ 2008 SIS
SRR ol
STRRKS AL
RS8R BoSoTeTeses
B SRRKK
SRRRRKS %5
0RRKS 3RS
ogosesetess <
oo
XXX
Poosesrtoces

3RS

3XKS
KRR
Dy &0.
LK
fosesstotosel
8353
Pesssotessts
SRR
SRREKS
KK
plososeseses
00000,
CRKK
SRRRRKS
hatstetetes
g%
o
A‘»’%
NI




( )
2 Carla needs to fill her car with diesel.
She sees the price of diesel in a service station.
Diesel
160p per litre
( N
(@) Write the price of diesel in pounds.
(1)
£
N\ _J
Carla needs to buy 30 litres of diesel.
Diesel
160p per litre
She has £40
( N
(b) Does Carla have enough money to buy 30 litres of diesel?
(2)
N\
(Total for Question 2 is 3 marks)
J
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3 Keira wants to be an apprentice.

She wants to apply to the company that has the greatest number of apprentices.

Company A has 80 employees.
20% of the employees are apprentices.

Company B has 300 employees.
5% of the employees are apprentices.

f
(@) Which company has the greatest number of apprentices?
(3)
)
4 )
(b) Use a reverse calculation to show a check of your answer.
(1)
\_ J

(Total for Question 3 is 4 marks)
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4 The distance between Calais and Nice is 1195 km.

-
(a) Write 1195 in words.
(1)

g J

3 friends will drive a total distance of 1225.3 km.
They will share the driving equally.

They estimate each person will drive 295 km.
( )
(b) Use estimation to work out if each person will drive 295 km.

You must show your working.

(3)

(Total for Question 4 is 4 marks)

TOTAL FOR SECTION A IS 14 MARKS
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